
® 



Tools needed: 

Philips Head ScrewDriver 

What’s in the box? 
** You will need to supply your own mounting  

hardware 

Front Angled Brace 

QTY - 2 

Rear Angled Brace  

QTY - 2 

Main Frame  

QTY - 1 

Swing-Out Brace  

QTY - 2 

Upper Stop Bracket w/Latch 

QTY - 1 

Lower Stop Bracket 

QTY - 1 

Nylock Nut 

QTY - 8 

Flat Washer 

QTY - 4 

6-32 Screw 

QTY - 4 

10-32 Screw 

QTY - 14 

Black Cap 

QTY - 4 

Power Drill 3/8” Wrench 



10-32 Cross Head Screw 

10-32 Nylock Nut 

Install the MAIN FRAME into the wall stud as shown above.  

For added stability we recommend installing hardware 

through the slots in the back channel. 

 

** Mounting Hardware Not Included ** 



16” on center 

** Mounting Hardware Not Included ** 

10-32 Screw 



10-32 Screw 

10-32 Nylock Nut 

Swing gate open 



6-32 Screw 

Flat Washer 



3-4” Round Cap 

6-32 Screw 

Flat Washer 

Swing  Gate 
Closed 




